
Nimi: 　　　　　　　 Päivämäärä: 　　　　　　 Pisteet: 　　　

Eksponenttien aritmetiikka (negatiiviset
eksponentit)

6 + (−8) =2 (−1) + (−8) =2

7 − (−8) =2 4 − 1 =(−1)

9 − 4 =(−2) 2 − (−5) =(−2)

6 + (−5) = 3 + 10 =

(−8) − (−9) =2 2 − (−6) =(−1)

(−8) + (−2) =0 (−1) + (−6) =(−2)

4 + (−10) =2 (−5) + 1 =2

9 + 7 =2 5 − 10 =2

(−3) − (−3) =(−1) 4 − 8 =(−2)

3 + (−5) =2 (−1) + 8 =(−2)
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Nimi: 　　　　　　　 Päivämäärä: 　　　　　　 Pisteet: 　　　

Eksponenttien aritmetiikka (negatiiviset
eksponentit)

6 + (−8) = 282 (−1) + (−8) = (−7)2

7 − (−8) = 572 4 − 1 = (− )(−1)

4
3

9 − 4 = (− ) = (−3 )(−2)

81
323

81
80

2 − (−5) = = 5(−2)

4
21

4
1

6 + (−5) = 1 3 + 10 = 13

(−8) − (−9) = 732 2 − (−6) = = 6(−1)

2
13

2
1

(−8) + (−2) = (−1)0 (−1) + (−6) = (−5)(−2)

4 + (−10) = 62 (−5) + 1 = 262

9 + 7 = 882 5 − 10 = 152

(−3) − (−3) = = 2(−1)

3
8

3
2

4 − 8 = (− ) = (−7 )(−2)

16
127

16
15

3 + (−5) = 42 (−1) + 8 = 9(−2)
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